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Chapter 7 Review

Graph each equation on a separate piece of paper. Identify the domain, range, asymptote, and

the y-intercept.
1.y=ef 2. y=3* 3, y=2*
st 5. y=;(4)"-3 6. y=—(2*2+2
exponential growth or decay.

Without graphing, determine whether each equation represents

Then, find the y-intercept.
9 x

9. y=9.2(2.3)*
(Y ' - (0,4 .\) (0,9.8)

10.Mr. Anderson puts $1000 into an account that earns 4.5% annual interest. How much money wil
the account at the end of 30 years?

A = 1ooo( | +.045)3b -;%/, 45 . D3

8. y=4.1(0.72)*

| bein

11.A manufacturer bought a new rolling press for $48000. It has depreciated in value at an annual rate of
15%. What is its value 5 years after the purchase?

A= L_}KCO()(‘ -.15)5- = j; al QQ7;8LP

00 in an investment account that earns 6% interest compounded continuously. Find the

12.You place $9
value after 5 years. (.oto\(s )

A = G00- € = % 1am, g1

13.Bran invested $10000 in an account that earns simple 5% interest annually.
a. How much interest does the account earn in the first 10 years?

16000(1 +-09' =9 12g8. A5

b. How much more would the account earn in interest in the first 10 years is the interest was

compounded continuously? | ;
0000 & = § \LHEl. 2 b3 g
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14, Kyle invests $500 into an account that earns 0.25% interest compounded continuously.
a. Find the account balance after 5 years.
500 002 = 5. 49
b. When will Kyle's account ba|ar}ée be $7482? o7&
s IE09S) |4 apt=€  wast
= Inid.aud = . F= 1082 e
2.0l = . (025
Write each equation in logarithmic form. .
= L--5 3=
\D%wa‘o l0g, = 109 ¢
Write each in exponential form.
18.10g,32=5 19.10g 0.01 = -2 20. log1 == 3
e -
s =3 10 y 7e
Evaluate each logarithm.
21.log 1000 22.log, 256 23.log7 9
X O X = ¥_.)
107=100 HX =250 27 =
X=3 ) 3% 3
%= XD X7 /3
24.log1i 25.10g125$25 26-1038313
327 g s
3 ) a 5 % 5 o &Y
- o - "l/ =t
X. 53 2X=¢  X= /3
h h logarithmic function. Identify the domain, range, as mptote, and the x-intercept.
g;a; ?:gcx + 3 28.y = Iog1(x 1)+5 29.y =logs(x + 1)
Write each expression as a single logarithm.
30r Ilc?gB +log3 31.4(logz x +log, 3)
\D%&L* ('0%5")
109, (3"
32.3logx + 4logx 33.log4 +log2 —log5
109 y3 +\0%x \0g8 —1085
o%x 03
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Expand each logarithm. -
34, log, 2x2y 35.lo0g; 3m3p? 36. Ioge(4zly126 5
G 8ylo 10 n B
& ;09;2+1091x €109, v loga‘ovlqama\o 950" IO%Z A
talog, X 310954 |1+ 31035m + N0Ys P logplot + Skam +510d5 I
I —4 vz
37.logZ | - I)go4 38.10g 22 )0% %l 39.1(())g:0“/§9y_x hlo?iox X 3/
)

2109 - (1092 +JO%%) loax 1yt _.|D]cj > \03 ;33
10?«"“03\/“'- 09 © |+ 4 logx + 310y L
ooy FH09y —log &

Solve each equation. v v >

qo.ln2+lnx=4 41.2 — 4* = —62 42.logx +log2=>5

INZx =4 -—q:«;f'_tiq ,Dgé’x =5
= {p
et=a% :":Lﬁ 10 =X
f_i_ 100000 T
> = X = 5 ——DOOO :X
X= 31,299
43.log,(x +1) = 4 44.¢% ;yzo | ABLet =8
' = 4 Xl
M=%+ ;nﬁﬂfr;igo In e /1”5
x - ne
R = x| > 20 wa{i
=X - nal A =In5
£ 4 3 X =4Ins
X= 0.999 X;-_-_(_D,L-’3g
46.Inx —In4 =7 47.)log4x = -1 48.log4 - logx—
In = sy X Io% o
- -3
€= 4x —i
T 0096:)( -aO) = %
i olx = ¢
X :Lf?)glp,‘535 x = q00
Simg:fl;y eachl e:‘a(press—ion.\ S ‘{mz- ] 51.; ﬁ;i l
"Ilne3 Qind % "?q_' —|0InX 21n ® [ 2Ine
=10 \
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